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End result of MEIOSIS:
e Inmales-= (not identical)

e Infemales:=

Haploid Cells (Gametes)
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In human haploid cells, When fertilization

there are 23 single occurs, a zygote with 46
chromosomes in each. chromosomes (23 pairs)
is created.

Note: In Prophase I
Crossing over occurs, this results in GENETIC VARIATION.
This is important because it results in all the sperm and eggs
produced being genetically different!

Comparison of Mitosis and Meiosis:
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Two DIPLOID IDENTICAL cells for growth and replacement Four HAPLOID UNIDENTICAL cells for reproduction



